Name:

pH practice
Due: Tuesday (01/02) Wednesday (03}
1. What is the pH of a solution whose: (5)
a) [H]=1x10%? k-
b) {H*]=2.93x10?%? A.5
c) pOH is 8? 14-8 @
d) pOH is 10.77 19~V = 3.3
e) [OH] = 2.1 x 10°5? 7.3
pok = 4.7 m
2. LiOH is a strong base. This means that it dissociates completely in water according to the reaction
below.
L|0H(s) 9 i.i+(aq) + OH'(aq)
What is the pH of a solution made by dissolving 20.0 g of LiOH in 750 ml of water? (4)
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3. Ba}king soda has a of 9. Water has a pH of 7. In terms of the acidity, how much stronger is the juice?
pH x 00 (2
4. Find the [OH'], the [H*] and the pH of a 0.20M solution of acetic acid. Ka= 1.8 x 10, (4)
{hint: 0.20M is the initial value of the acid, I.C.E. table needed}
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5. Calculate the pH of a 0.030M nitrous acid (HNO2) solution. The K; of HNO; is 4.0 x 107°. & (4)
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